Tk | UIER | EESE =[S FEFEsE
7 2 1 REEINS 24
7 2 18 HEBINIS 18
7 2 20 REBINIS 6
7 3 4 HEBINIS 3
7 3 8 REEINS 20
7 3 12 HEBIIS 14
7 4 19 REBFNIS 5
7 5 7 FEBIIS 4
7 5 13 REBFNIS 11
7 5 24 FEBIIS 9
7 6 1 REBFNIS 15
7 7 7 FEBIIS 7
7 7 13 REBNIS 25
7 8 9 FEBIIE 8
7 8 11 REBFNIS 21
7 8 24 FEBIIS 1
8 1 10 REBNIS 13
8 1 27 FEBINIE 12
8 1 28 REBNIS 2
8 2 10 ZEBIRIS 26
8 5 7 REBNIS 19
8 6 21 FEBINIE 23
8 7 26 REBNIS 17
8 8 7 ZEBIRIS 10
8 8 9 REBINIS 10
8 8 15 FEBINIE 22
8 8 27 JEEINS 16
Tk | VIR | EESE FEFEs% 158
7 2 3 7 B ES
7 2 26 1 SRENE
7 7 17 10 B ES
8 1 2 2 SRENE
8 1 11 9 RINE
8 1 19 4 SRENE
8 3 5 5 B ES
8 5 14 3 RENE
8 5 22 11 ERENEE
8 5 25 8 RENE
8 8 16 6 ERENEE




